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Q1. ¥ 2006 ¥, T Wig HA aTal Tfad, THH au # fpdbe, Peara ik ¢ e
P a1 AfRTal &t Fo GBI & fra ufa=e 82
(a) 25+

2

(b) 242

() 215
(d) 222
(e) 23
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Q2. a9 2001 | 2006 dF, Fedld URig P a1d At fora-i( fafera #) 82

(a) 1500



(b) 1600

(c) 1700

(d) 1800

(e) 1900
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Q3. ¥ 2006 ® ¢ TRig H=A AT AfTTal B 1A, 96 2005 A 9 y™dg B aral
Hfdadl o1 Ter | feaa e $a 82

(a) 110

(b) 105

(c) 100

(d) 95

(e) 90
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Q4. 94 2003 | fopdbe URig P Tt AfFadl $T, A Wig A = arad AfFaal
D @& | W rguTd fBae 372

(a) 14:17

(b)15:13

(c)15:11

(d)13:15

(e)17:14
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Q5. 9} aul A fAremex fpdre Wi ®1 are aafaal 31 J@n fea (@rfera #) 8-

(a) 2050

(b) 2000

(c) 1850

(d) 1750

(e) 1600
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Directions (6-10): f3U 7T UTH &1 &FYdd IR SIoTT 3R Usif & IR ST,
A T AT oS ATH Tge 3R VT SaRT AeATE & B HI-3eldT el H get 7 ootat
arel gAY Y 2T &,




I 7? \/ —o— Rahul
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Q6. I FHITIAR Eﬁrugﬂ 3R WgeT @R T Y 91$ gl HATA &, AT HITeIa 1 AgeT bl T

T TGl T I A AT AT HIFAT?
(a) $TH H I oTeT

(b)1:3

(c)3:1

(d)3:2

(e)4:3
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Q7. HITTAR, JUAR 3R dRAR T AgeT SaRT AT &I 1S el g 96 bl § 3R 31 fealt
I ST ShARM: U 5:3:2 &. Al FITIR AR IRAR T AgeT il AT 1 AT rfere?
(a) 10.5 Thait/aer

(b) 13 fRefi/ger

(c) 21 fora/Eer

(d) $TH & 15 Tl

(e) 8.5 fera/EreT
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Q8. g ATAAR =T Yedeh G@RT o &1 18 & 180 el § 3R Idar 1 Aga 3R g
ATy ATAGR T JolelT 7 20% 3R 40% 3178 8, A FAAR T Aget 1 M FAT oot o
gl 1 T F fohctt gfaerd 3fes a1 % &7



3

(a) 71; %
2

(b) 782%
() 612%
(d) 67=%

(€) $TH A FIg oTeT
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Q9. AT THIR I AR T a1y 5 H/Ahs & St Tger 3R gt B a1 & sharer: 30% 3R
45% &. Y TATeT feT IX g 3R TGl GaRT THATA 7 & 715 Foel G AT HISHT?

(a) 360.ﬁﬂ=ﬁ .

(b) 3T | g LT

(c) 320 et

(d) 210 TRaT

(e) 240 faraiT
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Q10. FfE YFAR T MY, Mgl 3R g EIRT TT T 15 g 1:3:4 § 3R 31fAT Hr a1fy,
e 3R Tger T vhary IMd & 63— . dr AT A a1l w7 ffSw. g 2 arr ¢ &
3y T T 15 HReA/EeT § R YR T 38h GaRT forar A1 T, TES GaRT HAIR

I foT T gHT & AT §7
(a) 56 ferafi/eer

(b) 42 TRaI/EET
(c) 49 Tha/Eer
(d) 70 TRa/EET

(e) 35 Tohal/aer
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Directions (11 - 15): Reafaf@d Teat & wearas e (7) FF TAH R FAT AT 3T
Gy



3 16 3 3 12 18
QiL. (zlxxxa)Jf(gX:X?) =
(b) 1231
(C) 12 55
(d) 12
(e) 127
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Q12.(3080 + 6160) +?=330
(a) 26

(b) 22

(c) 28

(d) 29

(e) 18
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Q13.7x (523.5 4+ 687.5) = 24220
(a) 32

(b) 22

(c) 28

(d) 20

(e) 30
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Q14- (5><5><5><5) —7

2+2+2+2

(a) 78.125

(b) 76.125

(c) 68.125

(d) 72.125

(e) 74
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Q15.3+24+ 2 4229
4 8 16 8



(@)2=
(b) 2 31—6
(c)2 1—67
(d) 2 E
()2,
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Solutions

S1. Ans. (e)
Sol.  Required percentage

= 175 x 100
" 300 + 275 + 175
_1750_2310/
75 737

S2. Ans. (d)

Sol.  Total no. of people who preferred to play football from 2001 to 2006
= 375+ 400 + 300 + 200 + 250 + 275)

= 1800 millions

S3. Ans. (c)
Sol.  Required difference = 275 — 175
= 100 millions

S4. Ans. (b)
Sol.  Required Ratio = 375 : 325
=15:13

S5. Ans. (a)

Sol.  Total no. of people who preferred to play cricket in all the years together
= (400 + 375 + 375 4+ 250 + 350 + 300)

= 2050 millions

S6. Ans.(c)
Sol.
Let distance covered by earn Rahul and Rohan On Tuesday be x km.

Required ratio =

WK IR

=3:1



S7. Ans.(a)

Sol.

Let speed of Rohan on Tuesday, Wednesday & Thursday be 5x kmph, 3x kmph and 2x kmph
respectively

ATQ

S5xx1+3xx5+2xx6=96

32x=96

x =3 km/hr

. 3X5+3x2
Required avg. =

=10.5 km/hr

S8. Ans.(a)
Sol.
1

Speed of Rohan on Saturday = % =60 km/hr

Speed of Rahul on Saturday = % =30 km/hr

Speed of Rohan on Sunday = 60 x 1.2 = 72 km/hr
Speed of Rahul on Sunday = 30 x 1.4 =42 km/hr

Required % = 2= X 100 = 712 %
S9. Ans.(e)
Sol.

Speed of Veer on Monday = 5 X 15—8 =18 km/hr
Speed of Rahul on Monday = g X 100= 60 km/hr

Speed of Rohan on Monday = g X 100 =40 km/hr
Required distance = 60 x 2 + 40 x 3 = 240 km

S10. Ans.(b)

Sol.

Let distance covered by Ayush, Rahul & Rohan be x km, 3x km and 4x km respectively
x=15x2

x =30 km
Speed of Rahul on Friday = 323500 = 36 km/hr
Speed of Rohan on Friday = 4X430 =30 km/hr

Speed of Amit = 1—71 X (36 + 30) = 42 km/hr

S11. Ans. (c)
Sol 144+648 _ 792
Ol 64 64

—123
-8

S12. Ans. (c)



?7=28

S13. Ans. (d)

24220
Sol. 7=
1211

=20

S14. Ans. (a)
625

Sol. - = 78.125

S15. Ans. (a)
Sol.

16 16

12+10+13+6 _ 41 _

16



